Efficiency vs dr

x 12
<
[
>
> 1
[5)
c
[
(5]
£ 0.8
5 L
0.6
0.4
0.2
o J..\.G I IT
= [ [—— DQM_V0001_R000000001__Global__cmsswQCD__RECO
g I | —— DQM_V0001_R000000001__Global__mkFitOriginalQCD__RECO
4E- - —— DQM_v0001_R000000001__Global__mkFitNewQCD__RECO

1078 1072 107t

1
TP min AR

[ Efficiency vs dr (track,jet) |

8 O
27 0.45E
E _F
D: —
T o4
£0.35F
2 E
c 03__
) E
o —
20.25¢
(] o
0.2
0.15F
0.1
0.05F
R
I =
o )
L8
| SO TR O I R R :
107 B

Efficiency vs pu

50.05
o
9.045

...............................................

...................................................

..................................................

15

4 6 8 10 12 14 16 18 20
Pileup



	Contents
	Page 1


